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R = ring Ch = chain
- = picot -- longer picot

+ = join SS = switch shuttles
Sht1 = shuttle 1 Sht2 = shuttle 2

RW = reverse work

Simple Dragonfly Earrings
   Wanda Salmans 2014

http://wandasknottythoughts.blogspot.com/
      wandasknottythoughts@gmail.com

This was made with 2 shuttles but could be
done with one shuttle and a ball.
Bead is on Sht1 thread

For each earring you will need a split ring,
a bead of choice and an earring hook.

Sht1 R 3++3 to split ring. (join to split ring twice)
      RW  SS
Sht2 R 3-2-2--2-2-3 RW SS
Sht1 Ch 20 B* 20
Join to base of rings.

* for shaped beads make sure it is right-side-up
for the way it is to be worn and ball thread is
on the backside of the bead.

The Online Tatting Class/Georgia Seitz has my permission to use this pattern for class


